_.<._
{obozozs

elupzal

JEZDNIA

PRZEKROJ 1-1

%l
51’0
§'20'C _
GG royY3zed
] o ]
e IS I ¥
B T HAAAHA]
_ jigEgiggEpEps
| _ |[|i|lll|r{lll
5 | R =
m o (ilgEnE=Hglahii
? (il d=Ralnl
© C HH R HHT
L e
| ol | N
=1 Q—
_ [ |IW4,M|J|’SI HEE
1! !w o [ 1| [ L - H—+
w |||||||
| AT
! A A B4 H o H S
i IgESF g Eatyi
- - - - - igZgigigigs ml
T L
gl / lllllllllllllllll L]
L o o e e 0 g o v e
= HHHH H H H H H H
JTLLL ‘Ix]l..l.ll||ll||lulrL'].ll;|[1
Sty - FH H HH HHHH HIiH H
HplglinipSsduligEsdnnsts g
i 1 [ S8 o 0 R s g 5 B e SR R
S8l HHSHHEHHHHHHEHIIS
_M i I..IIJI Sz oy (i o U3 5 o LII mw[.l| n m_
pHeEis il lelinlE nim G Ealim
1 e e e e i e R qm L
gl pinlplyiylplyiybnl al
HEE s e S s AL
llllllllllllllllllllllll an/
|..|I|.I ||..1li.|..|..x|,| Il_lil...lllllllj .|||||.||J
u @ 5
—| ] |.l_¢|. ] r_ |T lllllllllll — ———
S EpEmE— ) 0000
S TN B
e
CIR A R T
_ |||||[|1uwm1r
I IS ESESERh<) - i
t I Hmrtrertrr
HIHH & HH
- AN =L
% 2l o H HE
- s leEilginl
i Bl ik
= _ IiduEauiniinl
o HI—<(— M
| P E s HH
: N igighs Zulnlgl
_ AHHHHHH .
- WHHEHEHE

SuUBILZ He00 <70z Srol
o
—suuelwz —
v rQYMIZEd elupzaf

2,00

5,00

2,00

+0,08

0,00
150224100 I 150271100 1 15220100 l 15224100

|

151220100

154304100

[
= |
—'r o~
al o
e S L B = by
c 1v.{0nv\ /
(%) t
iy m o\ /
m & A -+ N
= v | 3
%) <{ M@
=)
m A R
) = |lg X =
) Lw ADO mM;
Xlg > < o n SS |\
r|Sz o |o|jow 1% |8
$3 o |~ ~ s Ix | S
Aek.m AL K.f_zD $ USRS S
8 e = b ] = N ax
s|g2 x - < | < | = N
gel O o = v Z | =% |9
Olze )l O = |Flqg ol @ | Z|& |88
e S E w|Z 2 e = X SRS
7 =Y
- ®=x ZTIZ8 8|2 |55
= o o SN
. D=1 =T I B I | T
a o _| N ¥ |23 |%x| 3
; 3| < | 2| Y| v |8 &
[11] -/ NS g 2 pes
N o o= N
o EIRE|ds| &
> o km .I,“ -
o ~S |22 S
S > 8 o
= g A.q S
[ Y e
2S5 |8 8
© .. 0 . §a = m
e | g (¥ 5| 5 |H|E|E|F|E
4900|| £ |8| 8|5 (2|3 | % |8 | 8
=T [ © = 0 Hd © oy = I
e X c el R » o © a
b po— o W o
0
8
g S
- > =
m <
L { 58
— o_u -
g2 | EQ S
g | §& =
W & W4|
| E
LMk Lq%g
o o
i i
o S|
&
8
S
% 2
™ ™ —
S o] 3
) o| 2 : o
& O,L T 2 :
LN n &
i} )
N N
ie o =
Q. Q
8
=
=
]
i i
o\
=
=N
=
m X
-3 Ol —
I~ »A/M/%\ = N
= o
Slc =
—] g
Mm M
=10 =
L1+ <
8 =t
b <




